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[BUS330] A manager that fails to achieve the objectives as exptected to either 
__________________ or asked to resign
dismissed

[BUS330] _____________ of management implies that all managers irrespective of 
their position in the organizational hierarchy can perform identical functions
common

[BUS330] Gopnek and Meltaff (1997) give what is probably the most comprehensive 
set of __________________ on theories
conditions

[BUS330] Theories are bodies of _____________________ about a particular domain
information

[BUS330] Once the thoery is verified as proved through possible solution the problem 
are to be _________________
formulated

[BUS330] _______________ may refer to past present or future event not known 
previous to or at the time of prediction
prediction

[BUS330] Hypothesis should provide the answer to the _____________ which led to 
the enquiries
problem

[BUS330] Structually theories are all excepts
informing

[BUS330] The industrial revolution is usually considered to have begun around 
__________
1700

[BUS330] Theories are not ___________ representation but have dynamic properties
static
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